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Answer all the following questions:
The first question(20 marks)

A-The four elements of diffusion are:....... ...,
B- Mention three types of innovation — decisions.
C- What are the consequences of innovations in a social system?
D- Opinion leadership is the degree of ..o,
The second question(20 marks)
There is no fixed number and sequence of stages in case of adoption of an innovation.
Please explain with two models. .
The third question(20 marks)
A-Write the meaning of discontinuance and indicate types of discontinuance.
B-Mention the adopter categories and give the percentage of cach category?
The fourth question(20 marks)

Mention only the characteristics of innovators and early majority of adopter categories.
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